https://amazon.com/djape

Zero Twin Killer Sudoku

ha 47 |
o
||||||| 4 |
i i
I I
I I
===r |
I I
| ™ |
L__QN____.
i ]
I I
I I
_ _ R
I o I ! !
L__N____1 ! !
sl
I I I
| ™ __ ol
L__&) L__d
I
I
||||||| d
|||||||||||||
I I
| o |
L& ____ ___ d
|||||||||
I I
I I
L__>____.
|||||||||||||||||||||||||||||
! i “ I I
| sl 8 L_
| r | .|IIIHIII”
I I I I _
| wl | | — I
L__di I L__Q_ I
—_——— 1 1
r | I I
I I | |
I I
— bl
I I
I I
L__I
|||||||||
I I
| o~ |
L__d____.
i I
I I
I I
S | |
i I i i
I I I I
I I I I
| [===H —f=——=—=5
I I I I I
I I~ I I o~ I
L__@L__N____.| L__d____.

_0 by Djape

k20080315_z110_1049639 INSANE_c19 Ob

This puzzle may not be sold or monetized or reproduced in any form. Copyright (c) by Djape.

Puzzle by https://djape.net. Authorized for free distribution exclusively in its unaltered entirety.




